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ROARZERHALGTSLY,

(1) 5a(5x—9y)

(2) 6ab(4a+9b)

3) (6x2 —12xy) + —%x
(4) 8x(2x+9y) —6x(2x—8y)
(5) (x+2)(y+4)

6) (x—7)(x+6)

() (a—2b) (a+5b)

8) (y+4)(y—4)

9 (x+3y) ?

(10) (x—%) 2

(11) (6x+y) (6x—y)

(12) (5a+7b) ?

(13) (5x+2y) (5x—2y)

(14) (5x—3) (5x—4)

(15) (5ab+3c) (5ab—4c)

(16) (x+2) (x+6) — (x+2) 2

(17) (a+b+9) (a+b—6)
(18) (x+y+4)°2
(19) (a+b+2)(a+b—2)

(20) (a+b—5) (a—b—5)

ROAZERBALESLY,

(1) 5a(5x—9y)

(2) 6ab(4a+9b)

3) (6x2 —12xy) + —%x
(4) 8x(2x+9y) —6x(2x—8y)
(5) (x+2)(y+4)

(6) (x—7)(x+86)

() (a—2b) (a+5b)

8) (y+4)(y—4)

(@) (x+3y) 2

(10) (x—%) 2

(11) (6x+y) (6x—y)

(12) (5a+7b) 2

(13) (5x+2y) (5x—2y)

(14) (5x—3) (5x—4)

(15) (5ab+3c) (bab—4c)

(16) (x+2) (x+6) — (x+2) 2

(17) (a+b+9)(a+b—6)
(18) (x+y+4)?2
(19) (a+b+2) (a+b—2)

(20) (a+b—5) (a—b—5)

25ax—45ay

24a% b + 54ab?

—9x+18y

4x 2 +120xy

xy+4x+2y+8

X 2 —x—42

a? +3ab —10b 2

y —16

x 2 +6xy +9y 2

x  —x +

a1
4
2

25x 2 — 35x + 12

25a 2 b? —5abc—12¢

4x+8

a 2 +2ab+b 2 +3a+3b—54

X 2 +2xy+y 2 +8x+8y+16

a’ +2ab+b2 —4

a’ —10a+25—b?




A—/IN\—KJ)L(57) BEEE

k

£MwBE_ A_ H FRErFf _ 4 ® 714 (&% 714 | & BEERE

/100 /100

—

ROARZERHALGTSLY,

(1) 7a(5x+7y)

(2) 5ab(5a—3b)

@ (6a® —12ab) + —- a
(4) 3a(9a+2b) —4a(7a—8b)
(5) (x—5)(y—17)

6 (x—7)(x+9)

(7) (x+5y) (x+9y)

(8) (x—5)(x+5)

9) (x+5y) 2

10) (x+)

(11) (4a+b) (4a—b)

(12) (3x—7y) 2

(13) (4x+7Ty) (4x—Ty)

(14) (5x+3) (5x—4)

(15) (5ab+4c) (5ab+3c)

(16) (x+2) (x+7) — (x—1) 2
(17) (x+y+3) (x+y—3)

(18) (x+y—9) 2

(19) (x+y—9) (x+y+9)

(20) (a+b—4) (a—b—4)

ROAZERBALESLY,

(1) 7a(5x+7y)

(2) 5ab(5a—3b)

3) (6a? —12ab) + —%a
(4) 3a(9a+2b)—4a(7a—8b)
(6) (x—5) (y—17)

6) (x—17) (x+9)

(7) (x+5y) (x+9y)

8) (x—5) (x+5)

(9) (x+5y) 2

(10) (x+2)°

(11) (4a+b) (4a—b)

(12) (3x—7y) 2

(13) (4x+7y) (4x—17y)

(14) (5x+3) (5x—4)

(15) (5ab+4c) (5ab+3c)

(16) (x+2) (x+7) — (x—1)?
(17 (x+y+3) (x+y—3)

(18) (x+y—9) 2

(19) (x+y—9) (x+y—+9)

(20) (a+b—4) (a—b—4)

35ax+49ay

25a’b — 15ab >

—4a+8b

a 2 +38ab

xy—7x—5y+35

x 2 +2x—63

x 2 +14xy —+45y 2

x2 —25

x 2 +10xy =25y 2

2 1
X +x+4

2 2

16a —b

9x 2 —42xy+49y 2

16x 2 — 49y 2

25x 2 — 5x — 12

2 2

95a 2 b2 +35abo+126 2

11x+13

2 +2xy+y2 —9

2 +2xy+y2 —18x—18y+81

X 2 +2xy+y 2 —81

a’—8a+16—b?
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